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1. (d) (64, 8, 65)

 64 – 8 = 56    Interchange the digits  65
(125, 27, 89)

 125 – 27 = 98  Interchange the digits  89

Similarly (83, 24,95)

 83 – 24 = 59  Interchange the digits 95

2. (c) Logic:
Column-wise: (First number × second number) – 2
= Third no.
First column:
(9 × 5) – 2 = 43
Second column:
(7 × 4) – 2 = 26
Similarly, for the Third column :
(9 × 7) – 2 = 61

3. (c)

4. (a) G J M

Q T W

+10 +10 +10

A D G

+10 +10 +10

K N Q

+10 +10 +10

5. (b) Srikant < Prathima < Nilima < Subhash < Herumb

6. (c) Course of Action 1: It suggests that the students are assessed based on their actual knowledge
and understanding, rather than being penalized for the errors in the question paper.
Course of Action 2: It suggests compensate the students for the loss of marks they suffered due to
the errors in the question paper.

 Either 1 or 2 follows.
7. (d) Logic : Vowels occur in the order A,E,I,O,U

A = 1, E = 2, I = 3 , O = 4, U = 5
Consonants are replaced by their place values
Now,

M  O  U   L   D

1 3  4   5  1 2  4

and 

 P  A  S   T   R  Y

16  11  9  20  18  25
Similarly,

H  O  N   E  Y

8  4  1 4  2  2 5

8. (c)
9. (a)
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10. (c)

Eggs

Millets

Ballons

Prisoners

 Only conclusion II follows

11. (d) 1.'Those who have passed the bachelor's degree can apply' - is true because the minimum eligibil-
ity is bachelor's degree for the Company X.
2.'Masters can also apply' - is true because Masters degree is the higher degree than bachelor's.

 Both assumption 1 and 2 are implicit.

12. (b) ABDKP/ABEKP/ABFKP/ ABGKP

13. (c)

14. (b) 290,   325,   362,   401

+35 +37 +39

15. (a) 52 @ 12 @ 15 @ 3 @ 6 @ 5 @ 15
Substituting the @ signs with –,+,÷,=,×,+  from left to right in the above expression
52 – 12 + 15 ÷ 3 = 6 × 5 + 15
40 + 5 = 3 + 15
45 = 45 (Satisfied)

16. (b) 1st row:
16  = 1 + 6  = 7
21 = 2  +1 = 3
(7 + 3)2 = (10)2 = 100
2nd row:
12  = 1 + 2  = 3
28 = 2  + 8 = 10
(3 + 10)2 = (13)2 = 169
Similarly, for the 3rd row
4 + 1 = 5
2 + 3 = 5
(5 + 5)2 = (10)2 = 100

17. (c) 6   January   2010

6 + 1 + 2 + 3 –1
(leap year)


11

7
 = 4 (Rem.)

The day of the week is Wednesday.
18. (a)
19. (a) Trick : (No. of letters)2

SALT = (4)2 = 16
PICKLE = (6)2 = 36
Similarly,
PRESERVATIVE = (12)2 = 144

20. (a)  

Paul
David 

Donald 

Mark 

charles
Joseph

Jacob

Gearge

 Charles is sitting second to the left of Donald.
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21. (a)
22. (a) Rainbow appears in the sky, similarly Tsunami occurs in the sea.
23. (b) Phone is a device by which one can talk, similarly Television is a device by which one can view.
24. (d) 52 + 9 – 2 ÷ 36 – 4 + 3

After interchanging the signs

+   ×, ×   –, ÷   +,–   ÷

 52 × 9 ÷ 2 + 36 ÷ 4 × 3
 52 × 4.5 + 9 × 3
 234 + 27 = 261

25. (a)

115,   130,   122    137

+15 –8 +15 –8 +15

129 144

B-GENERAL AWARENESS
26. (a)Cathode rays are a beam of electrons produced in a vacuum.

The beam of electrons travels from a negatively charged electrode at one end to a positively charged

electrode at the other, across a potential difference between the electrodes./dSFkksM fdj.ksa ,d fuokZr esa
mRiUu bysDVªkWuksa dh fdj.k gSaA
bysDVªkWuksa dk che bysDVªksM ds chp ,d foHkokUrj ds ikj] ½.kkRed vkosf'kr fd, x, bysDVªksM ls ,d Nksj ij nwljs LFkku ij /ukRed
vkosf'kr  bysDVªksM ls xfr djrk gSA

27. (c) The Commonwealth Games were formerly known as the 'British Empire Games'. The Commonwealth

Games are held every four years./jk"VªeaMy •syksa dks igys ̂ fczfV'k ,Eik;j xse* dgk tkrk FkkA jk"VªeaMy •sy gj pkj lky
esa gksrs gSaA

28. (d) Uttarkashi, located in the state of Uttarakhand, is known for its rich cultural heritage and traditional
fairs. Mauna-Mela is one of the major fairs held in Uttarkashi, which attracts a large number of

visitors./mÙkjk•aM jkT; esa fLFkr mÙkjdk'kh viuh lè¼ lkaLÑfrd fojklr vkSj ikjaifjd esyksa ds fy, tkuk tkrk gSA ekSuk&esyk
mÙkjdk'kh esa vk;ksftr gksus okys çeq• esyksa esa ls ,d gS] tks cM+h la[;k esa vkxarqdksa dks vkdf"kZr djrk gSA

29. (b)

30. (c)

31. (b) The tax levied on agriculture was called kharaj and was about 50% of the produce, making it an
important source of revenue for the Sultanate.

Other taxes included those levied on cattle and houses, but kharaj refers specifically to the tax levied on

agricultural production./Ñf"k ij yxk;k tkus okyk dj •jkt dgykrk Fkk vkSj ;g mit dk yxHkx 50» Fkk] tks lqYrkur ds fy,
jktLo dk ,d egRoiw.kZ lzksr FkkA
vU; djksa esa eosf'k;ksa vkSj ?kjksa ij yxk, x, dj 'kkfey Fks] ysfdu •jkt fo'ks"k :i ls Ñf"k mRiknu ij yxk, x, dj dks lanfHkZr djrk
gSA

32. (a)Wood's Dispatch is considered the 'Magna-Carta' of English education in India. Charles Wood was
the President of the Board of Control of the East India Company.

Objectives of Wood's Dispatch: To impart western knowledge, information about western culture to Indians.

To educate the natives of India so as to create a class of public servants./oqM ds vkns'k i=k (oqM~l fMLiSp) dks
Hkkjr esa vaxzsth f'k{kk dk ^eSXuk&dkVkZ* ekuk tkrk gSA pkYlZ oqM bZLV bafM;k daiuh ds cksMZ vkWiQ daVªksy ds vè;{k FksA
oqM~l fMLiSp ds mís';% if'peh Kku çnku djus ds fy,] Hkkjrh;ksa dks if'peh laLÑfr ds ckjs esa tkudkjhA
Hkkjr ds ewy fuokfl;ksa dks f'kf{kr djuk rkfd yksd lsodksa dk ,d oxZ cuk;k tk ldsA

33. (d)

34. (b) A shooting star is nothing but meteors when they enter the Earth's atmosphere. A shooting star looks just

like an upside-down hammer./,d VwVrk rkjk dqN vkSj ugha cfYd mYdk,a gSa tc os i`Foh ds ok;qeaMy esa ços'k djrh gSaA VwVrk
rkjk fcYdqy mYVs gFkkSM+s tSlk gh fn•rk gSA

35. (d) The December 2004 Indian Ocean tsunami struck the coasts of many countries in South and Southeast
Asia. The tsunami and its aftershocks were responsible for extensive destruction and damage along the

Indian Ocean coast./fnlacj 2004 esa fgan egklkxj dh lqukeh us nf{k.k vkSj nf{k.k iwoZ ,f'k;k ds dbZ ns'kksa ds rVksa dks çHkkfor fd;kA
lqukeh vkSj blds ifj.kkeLo:i ;g fgan egklkxj ds rV ij Hkkjh fouk'k vkSj uqdlku ds fy, ftEesnkj FksA
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36. (c) Srisailam Dam is located in Kurnool district of Andhra Pradesh. Srisailam Hydroele-ctric Project has been
constructed on Krishna River. Srisailam Project is the 12th largest hydroelectric project in the country./

Jh' k Sye c k a /
vka/z çns'k ds dqjuwy ftys esa fLFkr gSA Ñ".kk unh ij Jh'kSye tyfo|qr ifj;kstuk dk fuekZ.k fd;k x;k gSA Jh'kSye ifj;kstuk ns'k dh
12oha lcls cM+h tyfo|qr ifj;kstuk gSA

37. (b) ) Goa became the 25th state of India on 30 May 1987. Before attaining statehood, Goa was a union
territory along with Daman and Diu. The demand for statehood was driven by the strong sense of

identity and cultural distinctiveness among Goans./30 ebZ 1987 dks xksok Hkkjr dk 25oka jkT; cukA jkT; dk ntkZ çkIr
djus ls igys xksok] neu vkSj nho ds lkFk ,d dsaæ 'kkflr çns'k FkkA jkT; dk ntkZ nsus dh ekax xksokokfl;ksa esa igpku vkSj lkaLÑfrd
fof'k"Vrk dh çcy Hkkouk ls çsfjr FkhA

38. (b) At present, out of 28 states in India, 6 states have Legislative Council. These 6 states are-

Andhra Pradesh

Telangana

Karnataka

Maharashtra

Uttar Pradesh

Bihar/orZeku esa Hkkjr ds 28 jkT;ksa esa ls 6 jkT;ksa esa fo/ku ifj"kn gSA ;s 6 jkT; gSa&
vka/z çns'k
rsyaxkuk
dukZVd
egkjk"Vª
mÙkj çns'k
fcgkj

39. (d) Foreign policy decides what kind of relations a country has with which country in the international
system. But many factors influence foreign policy while it is being decided.

The factors are as follows:-

Geographical location

Political system

Economy

National leadership

Administrative factors/fons'k uhfr r; djrh gS fd varjjk"Vªh; O;oLFkk esa fdl ns'k ds lkFk fdl rjg ds laca/ gSaA ysfdu dbZ
dkjd fons'k uhfr dks çHkkfor djrs gSa tcfd ;g r; fd;k tk jgk gSA

dkjd bl çdkj gSa%&

HkkSxksfyd fLFkfr

jktuhfrd O;oLFkk

vFkZO;oLFkk

jk"Vªh; usr̀Ro

ç'kklfud dkjd
40. (a)The Reserve Bank of India (RBI) is the central bank of India and plays a key role in regulating the

money market. It manages the country's monetary policy and ensures financial stability./Hkkjrh; fjtoZ
cSad (vkjchvkbZ) Hkkjr dk dsaæh; cSad gS vkSj eqæk cktkj dks fofu;fer djus esa egRoiw.kZ Hkwfedk fuHkkrk gSA ;g ns'k dh ekSfæd uhfr
dk çca/u djrk gS vkSj foÙkh; fLFkjrk lqfuf'pr djrk gSA

41. (d)

42. (a)
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43. (c) The pancreas is a mixed gland having both endocrine and exocrine functions.

The endocrine part secretes the hormones insulin and glucagon while the exocrine part secretes an

alkaline pancreatic juice containing enzymes and bicarbonate./ vXU;k'k; ,d fefJr xzafFk gS ftlesa var%lzkoh
vkSj cfg%lzkoh nksuksa çdkj ds dk;Z gksrs gSaA

var%lzkoh Hkkx balqfyu vkSj Xywdkxu gkekZsu dks lzkfor djrk gS tcfd cfg%lzkoh Hkkx ,atkbe vkSj ckbdkckZsusV ;qDr ,d {kkjh; vXuk'k;h
jl dks lzkfor djrk gSA

44. (a)The backup command in DOS is used to make copies of files and directories to prevent data loss./

DOS esa cSdvi dekaM dk mi;ksx iQkbyksa vkSj funZsf'kdkvksa dh çfr;k¡ cukus ds fy, fd;k tkrk gS rkfd MsVk gkfu dks jksdk tk ldsA
45. (b) The skin effect is a phenomenon that occurs in alternating current (AC) systems where the current

flows primarily along the outer surface or "skin" of the conductor, rather than being evenly distributed

throughout its cross section. This effect increases with the frequency of the AC signal./Rokfpd çHkko ,d
,slh ?kVuk gS tks çR;korhZ /kjk (AC) ç.kkfy;ksa esa gksrh gS] tgk¡ /kjk eq[; :i ls pkyd dh ckgjh lrg ;k ^^Rokfpd** ij cgrh gS]
ctk; blds fd og mlds vuqçLFk dkV esa leku :i ls forfjr gksA ;g çHkko AC flXuy dh vko`fÙk ds lkFk c<+rk gSA

46. (d) Justice Mohammad Hidayatullah was the first Chief Justice of India who served as Acting President of

India. He served as Acting President of India from July 20, 1969 to August 24, 1969./U;k;ewfrZ eksgEen
fgnk;rqYykg Hkkjr ds igys eq[; U;k;k/h'k Fks ftUgksaus Hkkjr ds dk;Zokgd jk"Vªifr ds :i esa dk;Z fd;kA mUgksaus 20 tqykbZ] 1969 ls 24
vxLr] 1969 rd Hkkjr ds dk;Zokgd jk"Vªifr ds :i esa dk;Z fd;kA

47. (b)

48. (c)

49. (a)

50. (d)

C - QUANTITATIVE APTITUDE

51. (b) 4489  = 67

 7840  = 88.54

 1024  = 32

 2916  = 54

52. (a) C.I = P 

t
r

1+
100

 
  
 

– 1

C.I = P 

3
r

1+
100

 
  
 

– 1

 = 38500 

3
8

1+
100

 
  
 

– 1

 = 38500 

3
27

25

 
  
 

– 1

= 9998.912
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53. (c) 27A + 6B

 27 × 
1

4 7
 + 6× 

1

3 – 7

 27 × 
4 – 7

9
 + 6 × 

3 7

2



 3    4 – 7  + 3 + 7 
  

 21

54. (d) 26.4 × 12.5 + 484+20+121

= x2 + 31
 330 + 25 = x2 + 31
 x = 18

55. (a) Investment of A, B and C is 
2

3
: 

3

5
 : 

6

5

 10 : 9 : 18
 (A's Share) : (B's share) : (C's Share)
 [(10x × 4) + (11x ×8)] : (9x ×12 )

: (18x × 12)
 32 : 27 : 54

Total profit is `70000
Now,
The share of 'B'

= 70000 × 
27

113

 16725.66

56. (b) Put  = 0

 cosec 75o – sec15o – tan55o + cot35o 0

57. (d) A + B – C = px2 + qx2y2 + ry2

 x2 – 3x2y2 – x2y2 – 2x2 – 3y2 + 12x2y2 = px2 + qx2y2 + ry2

 – x2 + 10x2y2 – 3y2  = px2 + qx2y2 + ry2

Compairing Both sides

 p = –1 , q = 10, r = –3

 (5p + q – r) 8

58. (b) G : B = 6 : 5

ATQ, 11  66

1  6

G  : B = 36 : 30

When 4 more girls are admitted to the school then new ratio of number of Boys and Girls = 30 : 40 = 3
: 4

59. (b) Total no. of votes in 1985 = 8000

Invalid votes (in %) = 7 %

Valid votes (in %) = 93 %

Total no. of valid votes  = 93% × 8000 = 7440
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60. (b) (a + b + c)2  = a2 + b2 + c2 +   2(ab + bc + ca)

Now, (a + b + c)2 – a2  – b2 – c2

 2 (ab + bc + ca)

61. (c) Pratima –– 10

Diksha –– 15

3

2
30 (Total work)

ATQ,

Pratima alone works for 4 hours = 3 × 4 = 12

Remaing work = 30 – 12 = 18

Now,

Diksha completes the remaing work in hours  = 
18

2
= 9 Hrs.

62. (c) Area of the sector = 
360


r2

=
60

360
×
22

7
× 5 × 5

  13.09  13.1cm2

63. (c) (–25) × 8 + (–25) × 2

= – 250

64. (a) The product of the numbers = 277 × 323 = 89471

65. (a) cosx = 
1

–
2
x = 240º

Now, tan 240º  = 3

66. (a) C.P = ̀ 3000

S.P = ̀ 3200

Profit (P) = S.P – C.P

= 3200 – 3000 = 200
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67. (b) x +
1

x
= – 6 ...(i)

Squaring both sides

x2 + 
1

2
x

 = 34 ...(ii)

Cubing both sides of the equation (i) and we get -

x3 + 3

1

x
 = – 198

Now, x5 + 5

1

x


1 1 13 2

x + × x + – x+
3 2 xx x

             
                       

 [(–198) × 34] – (– 6)

 (–6732) + 6 = – 6726

68. (b)            Initial : Final

Side -    50    :    67

Area -  2500  :  4489

 Increase % =  
4489 – 2500

2500
 × 100 = 79.56%

69. (a) ATQ,


55

60
 = 
33

x

 55x =  33 × 60

 x = 36

70. (c) A  B2

A = KB2 (K is constant) ...(1)

For A =  8 , B = 2

8 = K × 22

K = 2

Putting value of K in equation (1)

A = 2B

A = 2 × 52   = 50

71. (c) x = 3y + 4

Cubing both side

 (x – 3y)3 = 43

 x3 – 9xy (x – 3y)– 27y3 = 64

 x3 – 9xy × (4) – 27y3 = 64

 x3 – 27y3 – 36xy = 64
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72. (d) Time Interest

3 2

3 × 3 = 9 years 23

73. (b) 24 ÷ 6 × 
1 5 3

× + ×
4 3 3 4

3 
  
 

 4 × 
1 5

+
4 4

 
  
 

 = 6

74. (a) Volume of the sphere = 
4

3
r3

ATQ, 
4

3
r3 = 130977

 R3 = 1788.375 × 21

 R = 31.5cm

 The surface area of sphere = 4R2

 4 × 
22

7
× 31.5 × 31.5

  12474 cm2

75. (b) Area of the equilateral triangle = 
3

4
× (Side)2

= 
3

4
× (5)2  = 

25 3

4
cm2

D-ENGLISH COMPREHENSION

76. (b) Vintage (iqjkuh ysfdu mPp xq.koÙkk okyh pht) refers to something from the past of high quality, often admired for

its superior craftsmanship or classic appeal.

Epoch (bfrgkl dk fof'k"k~V ;qx ;k dky), Outdated (iqjkuh vkSj csdkj), and Culture (ijaijk,a ;k jhfr fjokt)

77. (a) She will have finished (og iwjh dj pqdh gksxh)

As the sentence refers to a future action that will be completed by a specific time (“by this time next

week”). The correct tense for such situations is the future perfect tense, which uses “will have” +

past participle.

78. (b) Entail (t:jh cukuk) means to involve something as a necessary or inevitable part or consequence.

Similarly, Necessitate (vfuok;Z djuk) refers to making something essential or required.

Assume (eku ysuk) means to take something as true without proof or evidence.

Eliminate (gVkuk) means to remove or get rid of something unnecessary or unwanted.

Flaw ([kkeh) means a defect or fault in something, often reducing its value or effectiveness.

79. (c) The correct spelling is “Receipt”.

80. (c) “accustomed to” means being familiar or habituated to something.
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81. (b) Obituary means a news article or notice that reports the recent death of a person, usually with

some details about their life.

Culinary refers to anything related to cooking or food.

Centenary refers to the 100th anniversary of something, like a birth or event.

Mortuary refers to a place where dead bodies are kept

82. (d)

83. (c) The subject “The people of Jammu and Kashmir” is plural, so the verb should be “have” instead of

“has.” The error lies in the use of “has”, which should be “have” to agree with the plural subject.

84. (b) Wisp (gok dk >ksadk@ek=k) means a small or delicate amount of something, often referring to a faint

trace or thin flow, like smoke. Its opposite is Trickle (/hjs&/hjs cguk), which refers to a small but

steady flow, often implying something more substantial.

Itchy ([kqtyh okyk) means having a sensation that makes one want to scratch.

Lot (cgqr) means a large quantity or amount, which is not related to the delicate or faint concept of “wisp.”

Wind (gok) refers to moving air, not a small or faint flow.

85. (c) Passive Voice : Subject (I) + am/is/are + Past Participle (invited) + by + Agent (them) + Object (to

join their club).

Active Voice Structure: Subject (They) + Verb (invite) + Object (me) + Complement (to join their club).

86. (b) Active Voice Structure : Auxiliary Verb (did) + Subject (your father) + Verb (accompany) + Object (you)?

Passive Voice Structure : Auxiliary Verb (were) + Subject (you) + not + Past Participle

(accompanied) + by + Agent (your father)?

87. (d) Taciturn (ekSuh@de cksyus okyk) means being reserved or speaking very little, often due to shyness or

introversion. Its opposite is Loquacious (ckrwuh), which refers to being very talkative or tending to

speak freely and at length.

Laconic (laf{kIr) means using very few words, similar to being brief and concise.

Reticent (ladksph) means being unwilling to express one’s thoughts or feelings readily.

Withdrawn (vyx&Fkyx) means shy or introverted, often avoiding social interactions.

88. (d) When the main verb in the sentence is in the present tense (as in “prepares”), the auxiliary verb

in the tag question should be in the present tense as well. Hence, the correct tag question would be

“doesn't she?” instead of “did she?”.

89. (d) Ominous (v'kqHk) means giving the impression that something bad or unpleasant is about to happen,

often a sign of danger or trouble. Similarly, Inauspicious (v'kqHk) refers to something not favorable or

likely to bring bad luck.

Propitious ('kqHk) means indicating a good chance of success or being favorable.

Blissful (vkuane;) means full of joy or extreme happiness.

Profane (vifo=k) means showing disrespect towards sacred or holy things.

90. (d) The correct order is dcba :

d. Introduces the right to dignity.

c. Explains how dignity can be earned.

b. Introduces human rights.

a. Specifies freedom of thought and expression as key human rights.

91. (d) Back to the drawing board” means to start something again from the beginning because the earlier

attempt was unsuccessful. (fdlh dk;Z esa vliQy gksus ds ckn mls ubZ 'kq#vkr ls djuk)
“Giving a penny for your thoughts” (vkids fopkjksa dks tkuus dh bPNk trkuk) means to ask someone

what they are thinking.

“Going to miss the boat” (volj [kks nsuk) means to miss an opportunity.

“Going to bite the bullet” (lkgliwoZd dfBukbZ dk lkeuk djuk) means to face a difficult or unpleasant

situation with courage.
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92. (b) The correct phrase is “cut back on”, which means to reduce or decrease something, especially in the

context of habits like eating junk food.

93. (d) “wherein” means “in which” or “inside which” and is used to refer to a place or situation, it indicates

that the treasure chest was hidden inside the room.

whereof – Refers to the thing or matter being discussed

whereas – Used to introduce a contrast

94. (c) Beyond the shadow of a doubt means something is absolutely certain or undeniable, with no room

for doubt.

95. (c) The correct order is QRPO :

Q. Starts the sentence: “in a world that can be.”

R. Describes the world: “harsh and challenging.”

P. Introduces the solution: “kindness and empathy.”

O. Describes the result: “bring light and positivity.”

96. (a)

97. (b)

98. (b)

99. (d)

100.(b)

ANSWER KEY

1. (d)

2. (c)

3. (c)

4. (a)

5. (b)

6. (c)

7. (d)

8. (c)

9. (a)

10. (c)

11. (d)

12. (b)

13. (c)

14. (b)

15. (a)

16. (b)

17. (c)

18. (a)

19. (a)

20. (a)

21. (a)

22. (a)

23. (b)

24. (d)

25. (a)

26. (a)

27. (c)

28. (d)

29. (b)

30. (c)

31. (b)

32. (a)

33. (d)

34. (b)

35. (d)

36. (c)

37. (b)

38. (b)

39. (d)

40. (a)

41. (d)

42. (a)

43. (c)

44. (a)

45. (b)

46. (d)

47. (b)

48. (c)

49. (a)

50. (d)

51. (b)

52. (a)

53. (c)

54. (d)

55. (a)

56. (b)

57. (d)

58. (b)

59. (b)

60. (b)

61. (c)

62. (c)

63. (c)

64. (a)

65. (a)

66. (a)

67. (b)

68. (b)

69. (a)

70. (c)

71. (c)

72. (d)

73. (b)

74. (a)

75. (b)

76. (b)

77. (a)

78. (b)

79. (c)

80. (c)

81. (b)

82. (d)

83. (c)

84. (b)

85. (c)

86. (b)

87. (d)

88. (d)
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90. (d)

91. (d)

92. (b)

93. (d)

94. (c)

95. (c)

96. (a)

97. (b)

98. (b)

99. (d)

100.(b)


